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el
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e
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tol toi ton
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e

= o]
o

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

HJ

5,000

H
S|
P
0
HO
tol
sl
Ho
on
J
HO
tol
=
HT
ble

del X &

MR

1,112,000
778,400
166,800
166,800

12,000

1,100,000

Mo A

2,400
1,680
360
360

2,400

04 JIZtNZ22XNSE+

2,400,000& *124

=

U RN

2,400

2,400
1,680
360
360

2,400

401 AIEBIZ S CHYI

MR

1,109,600
776,720
166,440
166,440

9,600

1,100,000

01 A€ HI

OFgIIE= d=F HLAMS

9,600,000& *1

OLAETMPZANXNAS 2HelAt &

i

02 2e
OLUTPAXAS B2 4

=

I

03 AIE 2 TH
HAAXAS 2elAr

i

Al
ol

EURL Y

UL RN MW

Mo R

1,088,900

9,600
6,720
1,440
1,440
1,079,300

755,510
161,895
161,895

16,800
16,800
11,760
2,520
2,520
3,900

3,900
2,730
585
585
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1,079,300

16,800

3,900

3t 24+ & FHIH

Mo

10,000

10,000

401 AIEHIZ 2 I

10,000

10,000

01 A& HI
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O
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2N
X ZH -
L= B

el

HO MO Mo
tol toi ton

z 0
ﬂ
e
S|

£ 1]
m

10
bl
=N

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 4,579 4,144 435
S Ut 22| AlAE KX 2el 4,579
= 4,579
JOFAF Z=2 A & FHIAMY 300,000 0 300,000
< 150,000
e 150,000
207 RO 300,000 0 300,000
< 150,000
e 150,000
01 H23 39l 300,000 0 300,000
O8=c ENY €= A 180,000
S 90,000
s 90,000
Oti=el Sstet S+ L3 XA 100,000
< 50,000
[ia 50,000
OYAZ IHOIRE Y SEIA 20,000
< 10,000
s 10,000
LYAUX oY FHALFG 8,674,554 5,160,943 3,513,611
= 450,000
X 1,769,830
< 636,017
[ia 5,818,707
NESPIE= RS IS e 4,026,554 1,658,111 2,368,443
= 450,000
Xl 1,069,830
< 636,017
[ia 1,870,707
ALY SHAY 364,839 181,151 183,688
201 Let24d] 53,144 25,576 27,568
01 At 22l 48,344 22,576 25,768
O HE(MHIAE) 88 S= 448
2,000,000& x14 2,000
O X208 g2F2 5,000,000& =14l 5,000
O 1552 FHA 0ID 2EHI
(473,000 1200 & )+(330,000+23] ) 6,336
OXZHIOI 2 ¥ X202 SAF=THE s
18,000, 000& 14! 18,000
O &Y dIINME &4 3,000,000& 3,000
O XZ2J188 =l 7,0003 73 »922 4,508
O LAUNIIE sE2Z 7¢ 475,000& x203| 9,500
02 2324l 4,800 3,000 1,800
OYAXNEZAAZaE2t 2 400,000& 128 4,800
202 O4dl 7,000 7,000 0
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2AM: 232X =0
HMa: QAR Zae FMAAS
SR ES R (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 = LH 4 bl 7,000 7,000 0
O XE2J1&8ae g2F48 4,000,000& 1 4,000
O XN=2ead g2F& 3,000,000 » 14 3,000
307 gl2tol & 51,400 0 51,400
02 IZHE S AHE L 51,400 0 51,400
O LaNXI= &8 2 OtAHE 435
2,000,000& 1004 & 20,000
OZaX=0s 2323 XA
10,000,000& *70% 7,000
OYANIIE=Rel adstd X&AY
20,000,000 *90% 18,000
OXAZES =l XA 6,400
308 XXM SO0l A 31,500 50,000 A 18,500
08 WEII20HStE X 31,500 50,000 A 18,500
O IS NSsn di=s HEgdsE N2
A 63,000,000 *50% 31,500
401 Al Bl 2B 100,720 0 100,720
01 A& HI 100,000 0 100,000
O AXZHOIE SIIAE B2 3A
100,000, 000& 14! 100,000
03 AlE S THHI 720 0 720
O AXZHOIE SIIAE 223 A 20|
100,000, 000& *0.72% 720
402 RI2EX=20| A 121,075 98,575 22,500
03 212t &AL S HI 121,075 98,575 22,500
O dRAHIY OIXNEBEMAL (NS A
21 2,652,500, 000& *3% 79,575
O RANSSHAAIAY(NZSHHAAY)
3,000,000 *50% 41,500
M2l XNgsAsSHdE2dAH 1,420,000 1,170,000 250,000
Xl 700,000
< 600,000
s 120,000
307 gl2tol & 820,000 720,000 100,000
Xl 330,000
< 400,000
s 90,000
02 It M AHE X 520,000 420,000 100,000
OLAMAXEZZSeAAH AtHE 29 100,000
Xl 20,000
< 70,000
s 10,000
OYaX=aS Hadg 25t 60,000
Xl 30,000
= 20,000
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EX: 2322 X =1
HMa: QAR Zae FMAAS
e XNEDINE Mg (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
o 10,000
OLANX = OHAHE XA 50,000
N 20,000
= 25,000
= 5,000
OYANX X E20HAHE 250,000
Xl 80,000
& 150,000
2 20,000
ORIBYH 2A4E X
90,000,000 x66 . 666% 60,000
Xl 30,000
= 25,000
= 5,000
04 QIZ2tSHALALS B = 300,000 300,000 0
OYANX = =X M= 300,000
Xl 150,000
= 110,000
= 40,000
402 SI2vXHE0| ™ 600,000 450,000 150,000
N 370,000
=} 200,000
= 30,000
02 CIZXIE A E X (0| XM THH) 600,000 450,000 150,000
ORIINB2LHANAES XS 500,000, 000%70% 350,000
Xl 300,000
& 35,000
2 15,000
ORIBRY MMAM 23 U SN
100,000, 000*70% 70,000
N 50,000
& 10,000
2 10,000
OYMXZHE B 2E= HeX
50,000, 000%x60% 30,000
N 20,000
& 5,000
= 5,000
OYANX = AZE3 L Ald X& 150,000
o= 150,000
AANIEZEHM =& (XA 408,000 0 408,000
201 et 2,000 0 2,000
01 AR 22l ] 2,000 0 2,000
OX == M EH &l 2,000,000 =14l 2,000
202 o4l 6,000 0 6,000
01 U401t 6,000 0 6.000
OYANXE =XM== 3,000,000 x4l 3,000
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A 222X =1
HMa: QAR Zae FMAAS
@ X208 deLE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OE =H #xord 3,000,000& » 14 3,000
307 21201 A 400,000 0 400,000
04 QIZFHALAIH B = 400,000 0 400,000
OYaNIE==HF=& 400,000,000 =14 400,000
SESSUNE 23 MCEMY SHAY 861,715 216,960 644,755
X 369,830
< 27,737
[ia 464,148
308 MtXIEHMSOIH 162,287 116,960 45,327
Xl 129,830
= 9,737
s 22,720
07 IXNHMARE = 162,287 116,960 45,327
O=EESNAEE MCEMY SHAY XX E
HMARY= 162,287
Xl 129,830
< 9,737
s 22,720
401 AIEHI L 2CHEI 699,428 100,000 599,428
Xl 240,000
< 18,000
s 441,428
01 A& Hl 680,000 100,000 580,000
OARAAAN =43 HAE3AM 680,000
Xl 240,000
< 18,000
s 422,000
02 2feldl 15,000 0 15,000
OARIAA =4 AE S AL 2l 15,000
03 Al 2 THHI 4,428 0 4,428
OARAAN =43 ASI A 20UHI 4,428
HsTR0(2H) X 72,000 90,000 A 18,000
< 8,280
i 63,720
307 glz2tol & 72,000 90,000 A 18,000
< 8,280
i 63,720
02 It M AHEE 72,000 90,000 A 18,000
OHYs==0(8H) XA 72,000
< 8,280
s 63,720
6RHAE S X2 A ALY 900,000 0 900,000
= 450,000
s 450,000
307 21201 A 830,000 0 830,000
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EX: 2322 X =1
HMa: QAR Zae FMAAS
SR ES R (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 415,000
= 415,000
02 QIZ2IA AAIE E X 830,000 0 830,000
OYANX X 6XHAIHE S X REHAY
830,000,000 1A 830,000
= 415,000
= 415,000
401 AlEHIZL 2 0HY| 70,000 0 70,000
= 35,000
= 35,000
01 Al&H| 70,000 0 70,000
OYANX = XS KPR ELAISY
70,000,000 x 14! 70,000
= 35,000
= 35,000
X 2L JietR = 1,202,000 1,854,232 N B5h2,232
QUAX| R 2229 1,202,000 1,854,232 N B5H2,232
202 04| 2,000 2,000 0
01 2Ll 2,000 2,000 0
OYAXXHOIIIE 22 29 2,000
306 542 500,000 500,000 0
o1 s 32 500,000 500,000 0
OYAXEZHOIIIE &2 500,000
401 Al HI L 2 0HHI 700,000 1,352,232 A Bh2,232
01 Al&H| 700,000 1,350,000 A 650,000
OYAXXHOIDNE Y= AlEHZ2Z X4 500,000
OYAXEZHOIIIA XZHES B2 2 AR
A QEE 2T AL 100,000
OLMNXEZ=EH HOOSE 2FFEX & 22X
A 100,000,000 =14l 100,000
X ZRQAEARL Y 530,000 420,000 110,000
X RAEARA 22| 29 530,000 420,000 110,000
306 23 530,000 420,000 110,000
01 52 530,000 420,000 110,000
OLAXN XA BEHARA EHZ 530,000
X E23SH =& 435 2,916,000 1,228,600 1,687,400
N 700,000
= 2,216,000
AAMXXAHOIIIE AFHZE &0/ X4 1,413,000 425,600 987,400
Xl 700,000
= 713,000
401 AlEHIZ 2 0HY| 1,413,000 400,000 1,013,000
Xl 700,000
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2AM: 232X =0
M QAR AWAAS
& XIX3H =& 2435 (SH9: &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 713,000
01 A& HI 1,393,000 398,560 994,440
OYAXZHOINE AtAHE ZOIE ZHAS 1,393,000
Xl 700,000
[ia 693,000
03 Al 20 HI 20,000 1,440 18,560
QAXZHOHIIE AFHE HOI ZHAY 20,000
X ZHOSE ALY 1,503,000 803,000 700,000
202 O4dl 3,000 3,000 0
01 =2 LHA YI 3,000 3,000 0
O XZHOSAZHE g2=2 3,000
401 Al BIZ 201 8] 1,500,000 500,000 1,000,000
01 Al& bl 1,500,000 500,000 1,000,000
O XIZHOHE& SX01dl
1,500,000, 000& 14! 1,500,000
EA2RE Y SHNI2SEE 1,840,251 327,510 1,512,741
= 4,000
Xl 500,000
=3 47,664
e 1,288,587
A S#Zod 1,840,251 327,510 1,512,741
= 4,000
Xl 500,000
< 47,664
e 1,288,587
SN 222Z 155,531 153,868 1,663
101 144 dl 3,911 1,036 2,875
04 D122 2XREE S 3,911 1,036 2,875
OENMEZE B 22 60,2403 x 15 x3H 2,711
OFZZ2(NE, MARY S) A=Y
150,000 »2H 43| 1,200
201 Let24d]| 92,320 80,832 11,488
01 At &t 2| bl 21,580 9,032 12,548
O&EAN RA 22 6,000,000& » 14 6,000
OTA U HAB ARE 7Y
1,000, 000& 1 1,000
OAMEA & 0IEXE E=I| X2l
50,0003 *x2CH 123 1,200
OSA 228 FY(EY, 22 8)
2,000,000& x14! 2,000
OSMS 22X S (22 L)
15,0002 61 &+ 123 1,080
OEAM& S2HI(33-108 OoF2tif2)
8,000& x 18 +200! 1,600
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A 222X =1
M THZR2E L SHNESTE
ool ST BIMM CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 25 #2¢ 700,000& 14 700
OZNMESEOIH, 2 H2E )7
4,000,000& %14 4,000
OEAM2 38 28 7#2 1,000& =4,000H 4,000
02 =224l 43,740 44,800 A 1,060
OFSPIR=2=; 1,500,000& »12& 18,000
O=ER= 100,000& =122 1,200
O=J1Z322HY AEZ 450,000 x12& 5,400
ORI AHl AAE & CCTV & MEZS
300,000& »12& 3,600
OEAM2 &3l 200,000 »3H €t X 600
OEM22IANAYE & A RAES
350,000& 128 »20 & 8,400
O M2 ditel AIAES Ald |X 22l
1,000, 000& 23] 2,000
O&IIHHHSE =2 1,000, 00014 1,000
O0IEXE M2 =2 1,000,000& 14 1,000
O0IEXE HIIZ2d= =3 150,000&+105 1,500
O0l2Xt8g STV AIER 20,000& 128 240
OXot == 4 E2Y 400,000& »23| 800
03 A2 Z Hl 27,000 27,000 0
2Nz S 2208 29
1,000,000 =504 2 5,000
Oz SN Z20H 2Y 10,000
O=stZd s & Hystsg 28 2H 10,000
O M2 =2t SAHY g A 2
1,000, 000%23] 2,000
202 Odl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
OEM2 298 ol 2,000,000 2,000
301 et a = 2,300 1,000 1,300
09 HALAHIE& S 1,500 0 1,500
OS2 HE 2 & A 2F
1,000, 000& 14! 1,000
O sSHAs0tel 28 XA 500,000& » 14! 500
1MIIEELSS 800 1,000 A 200
O=ENMua S ZA=sE 100,000%4 & 23] 800
401 Al HI L 2 THHI 10,000 30,000 20,000
01 A& HI 10,000 30,000 A20,000
OL=2ANE X E= 10,000, 000& =1 10,000
405 TtabF S| 45,000 35,000 10,000
01 AL EFH S 20,000 10,000 10,000
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A 222X =1
M SHBRSY U SNRHIE
ool AT BEM CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=EM& 2E(MIt, HolZ 8) 7€
10,000, 000& * 14! 10,000
O0ls RHEA N SAYXIIS 7Y
10,000, 000& 14! 10,000
02 =M=l 25,000 25,000 0
OEMz (22X, 02e 5) 7
10,000& »2,500& 25,000
ZechE 29l X8 141,720 140,200 1,520
= 46,464
s 95,256
101 @14 Hl 89,160 55,200 33,960
< 26,496
s 62,664
04 JIZHHZ2XNHEE S 89,160 55,200 33,960
OXBT M2 21HH XN-FAE(2S,0t2 80l
F=UR, XA 1,590,000& 128 »3H 57,240
= 22,896
s 34,344
OXBE M AJAH-FI(OUsUS) 25,920
—Jles 60,2403 253 15,241
< 1,800
s 13,441
— &0z 15,241,0002 «4/12 5,081
—REFsrE 60,2403 53+ 3,193
—Qx=g 60,2403 20 1,205
— B2 S0yl 600,000& »23] 1,200
OXSTAHE 29 A (2XNY)
500,000& x12& 6,000
< 1,800
s 4,200
201 Let24d] 16,560 50,000 A 33,440
= 4,968
[ia 11,592
01 At 22l 10,560 44,000 A 33,440
OXST AN 2ZXNE-AG(USUS, 2N
) 1,380, 000% 1& %20 A 2,760
< 828
s 1,932
OSSN SYXH-SIS (R, 012 80l,X
teh) 2,600,000& »1E «30 A& 7,800
< 2,340
s 5,460
03 A2 S HI 6,000 6,000 0
OXSTHR T2l X
1,200,000 =504 2 6,000
< 1,800
s 4,200
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A 222X =1
M THZR2E L SHNESTE
ool ST BIMM CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 36,000 35,000 1,000
< 15,000
s 21,000
01 AL ESFH S 5,000 4,000 1,000
oMzt 28 7¢ 1,000,000& *5H 2 5,000
< 1,500
s 3,500
02 TN 31,000 31,000 0
OX2ZTN2 TAHA7Y 5,000,000 =504 2 25,000
< 7,500
s 17,500
OSHBIZSCHE THPY(AH, E)
3,000,000 »20H 2 6,000
< 6,000
CAZ 22 (RSIZEX) 5,000 5,000 0
308 A EHHSOIA 5,000 5,000 0
08 WSII20HetE = 5,000 5,000 0
OYABBENZ TAHPY X
10,000& 500 5,000
N2 29 30,000 28,442 1,558
201 Let24dH] 5,000 6,000 21,000
02 232gHl 5,000 6,000 A 1,000
OXAME 22 S 2el 5,000
401 Al HIZ 201 Y] 25,000 0 25,000
01 A& HI 25,000 0 25,000
OXSEN2 AME KX B
1,000,000 *5H 2~ 5,000
OXALZE ZH2EMH2 JIs22 SA
20,000,000& =14 20,000
Qe SN2 HE 1,500,000 0 1,500,000
Xl 500,000
s 1,000,000
401 Al HI K 201 I 1,500,000 0 1,500,000
Xl 500,000
i 1,000,000
01 A& HI 1,494,600 0 1,494,600
Oga B3N A= & 1,494,600
Xl 500,000
[ia 994,600
03 Al =TI 5,400 0 5,400
OAIZ 2 HHI 5,400
20184 OIS AHBIA =0 K& AHY 8,000 0 8,000
= 4,000
< 1,200
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A 222X =1
HH: CAHRERY U SASHAE
ool TR BENA EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 2,800
201 L4 8,000 0 8,000
= 4,000
< 1,200
s 2,800
01 At 2t 2l 8,000 0 8,000
02018 MOolSMUIA O X ALY 8,000
= 4,000
< 1,200
[ia 2,800
HYR2IZH (222X =0 49,452 49,452 0
el 2 4,200 4,200 0
=St X 20 olE2Y 4,200 4,200 0
203 R =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
ORNE2E 350,000& 128 4,200
JlE3l 45,252 45,252 0
=22 X 20 |23l 45,252 45,252 0
201 Let2d] 20,412 20,412 0
01 At 221l 20,412 20,412 0
OZ ol &t 16,380
OS et S0 at 4,032
202 o4dl 24,840 24,840 0
01 = LH o4 1 24,840 24,840 0
O ol &t 24,840
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